2024F9AFH

2024410818 (N)=EjE OLD MAN MOUNTAIN{@#& & E Y X b

20245E10A18 (A)10 : 00LAFE D 23X 93 B HiEH

XilgEREC IZE THA
(1B fffit%) [#fffif%)
JANO— K BHmad— K B n 4 2024410818 (X) 202410818 (X)
09:59%T 10 : 00

602150476409 DIVOO1 Divide ¥217,500 ¥29, 700
602150476416 DIV0O03 Divide - Fat Bike ¥29, 700 ¥31, 900
602150476454 SET705.R Front Fit Kit 120 or 125 mm M12 x 1.5 ¥13, 200 ¥13, 750
602150476447 SET706. R Front Fit Kit 119 or 125 mm M12 x 1.0 ¥13, 200 ¥13, 750
602150476478 SET707.R Front Fit Kit 125 mm M15 x 1.5 ¥13, 200 ¥13, 750
602150476485 SET709 Front Fit Kit 133 to 138 mm M14 x 1.5 ¥13, 200 ¥13, 750
602150476461 SET712.R Front Fit Kit 122 mm M12 x 1.75 ¥13, 200 ¥13, 750




